
I. Explain Parfit’s goal 
   A. Argue Bundle Theory is correct 
   B. Present the implications Bundle Theory has for human persons 
II. Explian the rival theories 
   A. Ego Theory 
        1. What unites experiences is a single person 
        2. Give versions of Ego Theories 
             a. ________________________________ 
             b. ________________________________ 
        3. Use example of person “driving” the body from a control in the head as an illustration. 
        4. Give examples ordinary expressions that illustrate that we often assume E.T. is correct 
   B. Bundle Theory 
        1. What unites experiences is causal connections 
             a. Explain causal connections at a moment (i.e. different experiences at a moment) 
             b. ________________________________ 
        2. Point out some of the weird consequences of Bundle Theory 
             a. there is no “me” that survives. 
III. Teletransporter/Part Replacement 
      A. Explain how the teletransporter works 
           1. Motivate the intuition that I don’t survive the transporter 
           2. Explain why the notion of survival here relies on the Ego Theory 
      B. Explain how the part replacement room works 
           1. Point out the three common-sense intuitions that Parfit employ 
               a. ________________________________ 
               b. ________________________________ 
               c. ________________________________ 
      C. Leads to unwanted conclusion that there is a critical % that goes from me to duplicate 
           1. No evidence for what % could matter 
               a. No evidence means none or right? [don’t like this interpretation] 
               b. No evidence probably means there’s nothing to have evidence of. 
            2. Implausible that ​x​% part replacment is me, but (​x ​+ 1)% is a duplicate. 
               a. Give bad version of this argument (e.g. fetus argument) 
               b. Explain why this isn’t the bad version  
       D. Ego theory gave us the assumptions that led to unwanted conclusions, so BT is true 
            1. Give implications of bundle theory 
                a. ________________________________ 
                b. ________________________________ 
                c. ________________________________ 


